
1) „̀k¨Kí 1::  ∆𝑋𝑌𝑍 G 𝑐𝑜𝑠𝑋 = 𝑠𝑖𝑛𝑌 − 𝑐𝑜𝑠𝑍  

 `„k¨Kí 2::  𝑃 = 𝑐𝑜𝑠25𝛼 + 𝑐𝑜𝑠25𝛽 + 𝑐𝑜𝑠25𝛾 

K) 𝑐𝑜𝑠3𝐴 ‡K 𝑐𝑜𝑠𝐴 Gi gva¨‡g cÖKvk Ki | L) „̀k¨Kí 1 n‡Z †`LvI †h, wÎfzRwU mg‡KvYx | 

M) „̀k¨Kí 2 n‡Z †`LvI †h  𝑃 = 2𝑐𝑜𝑠5𝛼 𝑐𝑜𝑠5𝛽 𝑐𝑜𝑠5𝛾 hLb 𝛼 + 𝛽 + 𝛾 = 𝜋 

2) 𝑠𝑖𝑛𝜃 =
3

5
, 𝐴 =

𝜋

12
  

K) ∆𝐴𝐵𝐶 G †`LvI †h, 

𝑏+𝑐

𝑏−𝑐
=

𝑠𝑖𝑛𝐵+𝑠𝑖𝑛𝐶

𝑠𝑖𝑛𝐵−𝑠𝑖𝑛𝐶
  L) 

𝑐𝑜𝑡𝜃+cos (−𝜃)

𝑐𝑜𝑠𝑒𝑐(−𝜃)+𝑡𝑎𝑛𝜃
 Gi gvb wbY©q Ki hLb 

𝜋

2
< 𝜃 < 𝜋  

M) cÖgvb Ki †h,   𝑡𝑎𝑛𝐴 𝑡𝑎𝑛3𝐴 𝑡𝑎𝑛5𝐴 𝑡𝑎𝑛7𝐴 𝑡𝑎𝑛11𝐴 = 1 

3) ∆𝐴𝐵𝐶  G 𝐵 = 650, 𝐴𝐵 = 𝑐, 𝐴𝐶 = 𝑏, 𝐵𝐶 = 𝑎 

K) ∆𝐴𝐵𝐶 G †`LvI †h, 

𝑏+𝑐

𝑏−𝑐
=

𝑠𝑖𝑛𝐵+𝑠𝑖𝑛𝐶

𝑠𝑖𝑛𝐵−𝑠𝑖𝑛𝐶
  L) 𝐶 = 750

  n‡j †`LvI †h, 𝑠𝑒𝑐2𝐴 − √3 𝑐𝑜𝑠𝑒𝑐2𝐴 = 4 

M) cÖgvb Ki †h,   

𝑎2

𝑏𝑐
sin(𝐵 − 𝐶) +

𝑏2

𝑎𝑐
sin(𝐶 − 𝐴) +

𝑐2

𝑎𝑏
sin(𝐴 − 𝐵) = 0 

4) „̀k¨Kí 1::  ∆𝐴𝐵𝐶 G 4𝑠(𝑠 − 𝑏) = 3𝑐𝑎  

    `„k¨Kí 2:: 𝑇 = 𝑠𝑒𝑐𝑥 + 𝑡𝑎𝑛𝑥 

K) 𝑡𝑎𝑛𝜃 =
𝑏

𝑎
  n‡j 

𝑎𝑐𝑜𝑠𝜃+𝑏𝑠𝑖𝑛𝜃

𝑎𝑐𝑜𝑠𝜃−𝑏𝑠𝑖𝑛𝜃
 Gi gvb wbY©q Ki | L) „̀k¨Kí 1 n‡Z 𝐵 †Kv‡Yi gvb wbY©q Ki | 

M) „̀k¨Kí 2 n‡Z †`LvI †h  𝑇 = tan (
𝜋

4
+

𝑥

2
) 

5) 𝑠𝑖𝑛𝑥 = 𝑎 − 𝑠𝑖𝑛𝑦, 𝑐𝑜𝑠𝑥 = 𝑏 − 𝑐𝑜𝑠𝑦 

K) 𝜃 = cos−1 1

3
 n‡j 𝑐𝑜𝑠3𝜃 Gi gvb wbY©q Ki | L) cos (𝑥 + 𝑦) Gi gvb wbY©q Ki | 

M) †`LvI †h  𝑠𝑖𝑛
1

2
(𝑥 − 𝑦) = ±

1

2
√4 − 𝑎2 − 𝑏2

 

6) „̀k¨Kí 1::   2𝑝 = 𝑡𝑎𝑛
𝑥+𝑦

2
+ 𝑡𝑎𝑛

𝑥−𝑦

2
 

`„k¨Kí 2::  ∆𝐴𝐵𝐶 G 𝐴 + 𝐵 + 𝐶 = 𝜋, 𝐴𝐶 = 𝑏, 𝐴𝐵 = 𝑐, 𝐵𝐶 = 𝑎 

K) 

𝑠𝑖𝑛
𝜃

2
+𝑐𝑜𝑠

𝜃

2

√1+𝑠𝑖𝑛𝜃
 Gi gvb wbY©q Ki | L) `„k¨Kí 1 n‡Z ‡`LvI †h, p =

𝑠𝑖𝑛𝑥

𝑐𝑜𝑠𝑥+𝑐𝑜𝑠𝑦
  

M) „̀k¨Kí 2 n‡Z †`LvI †h  𝐴𝐶 sin (
𝐵

2
+ 𝐶) = (𝐴𝐵 + 𝐵𝐶)𝑠𝑖𝑛

𝐵

2
 

 


